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Supporting Information

The derivation of the equation describing the binding of pyridine to Ru(CO)3

= Uw but since [ L] = constant
[HLI[L']
o ALY 4 K =KL
[AL]L']

Let[HL]o be theinitial concentration of HL, and [L']. be theinitial concentration of L'

. [HL']
(AL}~ [HL (L'}~ [HL'])

= K'([HL} - [HL')([L'}. -[HL']) =[HL']
= K'(HL'])? - (K'[HLYo+ K'[L'}o+ )[HL' ]+ K'[HL}[L'} = 0

Divide by X'
= ([HL.'])2 +(-[HL}—[L'}e— %)[HL]‘+([HL]0)[Lf =0

Solve using the Quadratic Equation

([HL}o+[L']o + %) + \ﬁ_[HL]o ~[L'}o~ %)2 —4([HL)[L'}
2

HL'=

Since we know the initial concentration of host [HL],, then the concentration of the
complex [HL ] can be calculated for each initial concentration of ligand [Z ], for an
arbitrary value of K’. The error in the calculated curve can then be calculated in each
calculated value of [HL "] by averaging | [HL "|(found) — [HL "}(calculated)| for each [Z ]o.




© 2000 American Chemical Society, Inorg. Chem., Webb ic000411g Supporting Info Page 2

S2

Figure S1. Graph showing the rate of displacement of Py3T from Zn31(NOy)6.PysT
into Ru(CO)Zn32 (Reaction A, [J) and from Ru(CO)Zn22.Py3T into Zn31(NO2)s

(Reaction B, 0). The solid line represents the equilibrium value. The inset shows the
initial stages of Reaction A.
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The 250 MHz proton NMR spectrum of Ru(CO)Zn»2.Py3T.

wdd
N

ol

T SO
suojoid onewoie
suojoud -osaws

-
.
®
11 N °
a— > 9
o
=)
7]
_——
2 3
c
] 3
[ B
al
]
w—
—_——
&
- o
he)
-
=3
Q
=
w
32
—-— )
- J
[
>
o




